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A. REWRITE THE SENTENCES USING THE APPROPRIATE MODAL VERB ___ / 6  
(must, can, might, could, can’t)  
 
1. I’m sure he is with his girlfriend now.  

HE MUST BE WITH HIS GIRLFRIEND.  
2. Perhaps John is at the cinema.    

JOHN MIGHT/COULD/MAY BE AT THE CINEMA.  
3. I’m certain Mary was in love with Mike.  

MARY MUST HAVE BEEN IN LOVE WITH MIKE.  
4.  Maybe they will come to the party tonight.  

THEY MIGHT/COULD/MAY COME TO THE PARTY TONIGHT.  
5. It is impossible that this is Mark.  

THIS CAN’T BE MARK.  
6. Maybe he was asleep when you arrived.  

HE COULD/MIGHT/MAY HAVE BEEN ASLEEP.  
 

B. HERE ARE TODAY’S NEWS HEADLINES. PUT IN THE CORRECT VERBS.  ___ / 3 
arrive         die           marry 

 
1. England footballers HAVE ARRIVED back in Britain after a match in Rome. 
2. Singer Alex Haverty HAS MARRIED his long-time girlfriend Katy Bowen. 
3. Charles Black, Member of Parliament for Chilbury, HAS DIED at the age of 57. 
 
C. DECIDE IF THE SENTENCES ARE CORRECT (C) OR NOT (NC)?  ___ / 5 
 
1.  My father has changed his job.         C 

2. Andy has gone to Scotland last week.        NC 

3. Look what Peter has given me yesterday!       NC                 

4.   I’ve seen a great programme last night.        NC    

5.   I think everybody has arrived now.        C     

 
D. PUT THE VERBS IN THE PRESENT PERFECT OR SIMPLE PAST.  ___ / 8 
 
1.  Ann HAS LEFT (leave) her job at the bank.  
2.  HAVE you ever BEEN (be) to Scotland? Yes, I HAVE. I VISITED. (visit) it two years ago when I 
BOUGHT (buy) a lovely skirt for my mum. 
3. ‘Dad HAS FOUND (find) his glasses.’ ‘When DID he FIND (find) them?’   
 
E. REWRITE THE SENTENCES WITH THE SECOND CONDITIONAL ___ / 6 
 
1. I’ve got a headache. I’m not going swimming. 
IF I DIDN’T HAVE A HEADACHE, I WOULD GO SWIMMING.  
2. I don’t know the answer, so I can’t tell you.  
IF I KNEW THE ANSWER, I WOULD TELL YOU.  
3. We won’t have a holiday because we haven’t got any money.  
IF WE HAD MORE MONESY, WE WOULD HAVE A HOLIDIAY.  
 
F. COMPLETE THE SENTENCES WITH THE CORRECT FORM OF THE VERB. ___ / 6 
 
 
1. If it RAINS (rain) this weekend,  WE WON’T BE ABLE (not be able) to play tennis. 

2. Give me the letter. If I PASS (pass) a letter box, I WILL POST (post) it for you. 

3. I have two jobs, so I’m very busy. If I HAD (have) time, I WOULD TAKE UP (take up) a sport, but I 

don’t. 
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G. FILL IN THE GAPS WITH THE APPROPRIATE ADVERBS AND STRONG ADJECTIVES. ___ / 3 
 
1.  ‘Is your house big?’ – ‘Big?! It is ABSOLUTELY ENORMOUS/HUGE.  
2.  ‘Was he VERY angry?’ – ‘Angry?! He was FURIOUS. 
3.  ‘Are you frightened?’ – Frightened?! I’m ABSOLUTELY TERRIFIED.  
 
H. MATCH THE WORDS WITH DEFINITIONS. ___ / 6 
 
1. average 

2. sacrifice 

3. lottery 

4. charity 

5. moody       

6. tiring 

a) A contest in which tokens are distributed or sold, the winning token or tokens being secretly predetermined or 
ultimately selected in a random drawing 

b) being intermediate between extremes; usual or ordinary in kind or character 
c) to sell or give away at a loss 
d) fond of the company of others; pleasant, friendly     
e) reducing the strength or energy of           
f) given to frequent changes of mood; temperamental 
g) an organization or fund established to help the needy 
h) having no purpose because there is no chance for success 
 
 
 
 
I.  COMPLETE THE SENTENCES WITH THE PROPER PHRASAL VERB. ___ / 3 
 
put up with  get on with  work out          get over           make up 
 
1.  She goes to the gym twice a week to WORK OUT. 
2. My boss won’t PUT UP WITH arguments in the office. 
3. How does she GET ON WITH her daughter?  
 
 
J. MATCH THE LINES FROM THE TWO COLUMNS. ___ / 4 
 
1.  I want to travel the world.                                                        a) Neither did I. 
2.  Mary doesn’t want to go to the trip.                                       b) So do I. 
3.  I have never tasted Chinese food.        c) Neither have I. 
4. I didn’t meet Mark yesterday.                                                  d) Neither do I. 
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